
namn: 　　　　　　　 Datum: 　　　　　　 Poäng: 　　　

Aritmetik för exponenter (negativa exponenter)

3 − (−9) =2 (−8) − 6 =(−1)

6 + 6 =(−2) (−3) − 7 =2

(−6) − 6 =(−2) (−4) + 2 =(−2)

(−7) + 8 =0 (−9) − (−2) =(−1)

9 − 7 =2 (−7) − 7 =(−2)

(−6) + 6 =0 (−5) + 8 =0

6 + 9 =(−2) (−9) − 9 =2

(−3) + 6 =0 (−6) − (−10) =2

(−6) − 5 =(−1) 1 − (−8) =2

1 − (−6) =(−1) 10 + (−5) =2
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namn: 　　　　　　　 Datum: 　　　　　　 Poäng: 　　　

Aritmetik för exponenter (negativa exponenter)

3 − (−9) = 182 (−8) − 6 = (− ) = (−6 )(−1)

8
49

8
1

6 + 6 = = 6(−2)

36
217

36
1

(−3) − 7 = 22

(−6) − 6 = (− ) = (−5 )(−2)

36
215

36
35

(−4) + 2 = = 2(−2)

16
33

16
1

(−7) + 8 = 90 (−9) − (−2) = = 1(−1)

9
17

9
8

9 − 7 = 742 (−7) − 7 = (− ) = (−6 )(−2)

49
342

49
48

(−6) + 6 = 70 (−5) + 8 = 90

6 + 9 = = 9(−2)

36
325

36
1

(−9) − 9 = 722

(−3) + 6 = 70 (−6) − (−10) = 462

(−6) − 5 = (− ) = (−5 )(−1)

6
31

6
1

1 − (−8) = 92

1 − (−6) = 7(−1) 10 + (−5) = 952
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